7.1 — 7.3 Quiz: Extra Practice

Decide whether the ordered pair is a solution of the system of
linear equations.

1. (1. 1). (0, 3) 2. (2,4),(-3,8) 3. (-5.-2).(4,1)
2x+y=13 dr+yv=—4 x—y=23
r—2y= -1 —x—y=1 x—v=11

4. (—6,—4),(—4,0) 5. (—3, —4).(3,6) 6. (3, —4),(—6,2)
r—3y=06 —dx+y=38 —Xx—v==6
Le—y=-8 Sx— 3y = -3 I+ 4y = —10

Use the graph to solve the linear system. Check your solution
algebraically.

7. —x+y=-8 B.lx+y=-6 9,

r+yv=4 —x—2y= -3

Graph and check to solve the linear system.

10. x =6 1. y=x—12 12.
y=-3 y=—-x—4

13. ~Jx+yv=6 14. x + 2y = —6 15.
—x+y=-2 —3x+yv=-10

dx + 2y = —12
e+ 2y =38

v=2r—4
y= —é_t +1
y=3x+3

yv=x+4



ANSWERS

1. ves;no 2. noino 3. no; yes 4. yes: no
5. yes:no 6. noino 7. (6, —2) 8. (-3 3)

9. (—10, 14)
10. 11.
¥ . ¥ A
- : v
Ll . | -
ENEEE % 'V
e -,
T "
1 1 r |1
12. 13.
¥ F ;
/ |
f
= {2, 0
e ~
| 14
| -}Ill.r ll'l ﬁr:‘
I el DT
14. 15.
¥ 3
! s
d L
-
N L AR (-2, 20L&
Liz 4y | i
|'5|,|' 7] -3 :l ] EX
I
| Iﬂ' 1




Word Problems

1. Wendy is researching transportation companies for her catering business.
Peter’s Pick Up charges $2 per mile and charges a flat fee of $68. Helen’s
Haulers charges $100, no matter how many miles driven. Write a system of
equations and graph it.

2. Jonas needs a cell phone. He has a choice between two companies. Terri’s
telephone has a flat fee of $29.95 and $0.10 a minute. Carrie’s connection has
a flat fee of $4.95 and $0.40 a minute. Write and graph a system of equations.

ANSWERS
1. y=2x+68
y =100

2. y=2995+0.1x
y =495+ 4x



Use the substitution method to solve the linear system.

10. y=x+3
3x—y=35
13. x — 2y =—13

y=-2x—6
16. —x + 3v =4

x+ 6y =14
19. 2x + 5y =4

xr+5v=17

-

11. (4, =7) 12. (3, —i}
14. (—4, —14) 15. (—3,1

1. dx +y=9
y= =7

4. x—yv=10
Jx—y=—6

17. 3x + 2y = 8§
x+dyv=—-4

20. 3x + y =2
v+ 3v=9

Answers

10. (4, 7)
13. (-5, 4)
4) 16. (2, 2)

17. (4,-2) 18.(2,1) 19. (—3,2)

20. (6, —1) 21. (—22,10)

12.

15.

18.

21.

Ix=9
—2x+y=—8§
dx+y=2
x—y=-—17
x—5y=-3
4 — 3y =35
%.t-l—%_'r=1



Use linear combinations to solve the system of linear equations.

1. x+yv=11 2. x—2y=28§ 3 3x+yv=-§
r—=y=7 —x+ 3y =-—15 —Jx+dy= -2
4. 2xr — 4y =14 5.ix—y=-3 6. 75x — 1.2y = —2.7
—2x + 3y = —11 —Sx+y=12 =15+ 12y = —-33
7. x+ 2y=-3 8. —x—5y=30 9. —x+8v=16
x—dy =15 2x — Ty =25 3x + 4y = 36
10. 4x — 3y = =3 M. 4x + Sy = =2 12. 9x — 4y = — I8
dx + 5y =5 Sx —dy=-23 —3r+ 8 =6
13. dx=—11 +y 14, x =2y — 3 15. 4y = 15 — 3x
y=—6x—9 Jy = 3x + 13 2y = 3x + 21
16. 4x = S5y — 14 17. 5x = 4y — 30 18. 3y = 10 + 4x
3y — 8 = — 14 2x + 3y = —12 Sx=1y— 8
ANSWERS
1. (9.2) 2. (=6,-7) 3. (=2, -2)
4. (1,-3) 5.(=2,2) 6. (—1,—4)
7. (3,-3) 8. (—5,—-5) 9.(8,3) 10.(0,1)
11. (-3,2) 12. (—=2,0) 13. (—2,3)
14. (—=5,—1) 15. (=3,6) 16. (4,6)
17. (—6,0) 18. (—1,9)



Match the graph with its linear system. Does the system have
exactly one solution, no solution, or infinitely many solutions?

A -2x+v=6 B.x—dy=7
—dr + 2y = —6 Sx+y=-=7
D. 5x +dy =12 E. —-2x+ 3y = -6
—Sr —4y = —1 2y + 3y =10
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Use the substitution method or linear combinations to solve the
linear system and tell how many solutions the system has.
7. —8x + 8y = —6 8. —6x — 6y = —12 9. —4x—2y=2
Ix—3y=28 —x—2y=—4 dx — 2y = 18

1. 3x — 2y = =5 12. x + 3y = -3

10. 6x — 4y = —6
-9 + 6y =15 %_r+}.=1

r+2y=1

Use the graphing method to solve the linear system and tell how
many solutions the system has.

13. 2v + v =7 14, —2x 4+ 3y = 18 15. —x + 4y = =3
dx + 2y = —10 —2x+ 3y = —18 3x— 12y =3

16. 6x — 5y = 3 17. x = Ty =10 18. jx + y = -2
o+ Sy = —6x +dy = =22 x+3y=6



1.
3.
4.
5.

ANSWERS

E; exactly one solution 2. A; no solution
C; infinitely many solutions
B; exactly one solution

F; infinitely many solutions. 6. D; no

solution 7. no solution 8. infinitely many
solutions 9. exactly one solution (2, —5)

10.
11.
13.
15.
17.
18.

exactly one solution (—%, 1)

infinitely many solutions 12. no solution
no solution 14. no solution

no solution 16. no solution

exactly one solution (3, —1)

no solution



